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ELER =g AREE| BEE 5 = ) = 5 = ) = ) X s
BEEBRER - 15 3 9 3 9 12
EXEMER AXHEERER - 10 10 4 10 4 14
INET 25 13 13 13 13 26
ENFER 12 12 5 4 5 4 9
AX#EREHER EEATLEIRER 8 8 4 4 4 4 8
INET 20 20 9 8 9 8 17
BHAZEHREER - 5 2 2 2 2 4
BEBEER - 20 12 4 12 4 16
BEEHMER FRERDEER - 9 2 3 2 3 5
IDIEFGEFRRE I 10 10 3 2 3 2 5
INET 10 44 3 2 16 9 19 11 30
EFRAER FHEFEU 12 28 1 7 1 19 2 26 28
(B LaT#ARTE) INEE 12 28 1 7 1 19 2 26 28
EERETSXER 62 124 79 2 87 6 166 8 174
YMEEGRIFER 61 122 63 5 64 14 127 19 146
HITEHER EFRERIFER 59 118 69 59 2 128 2 130
(B LRTHAZRTE) HEYERFER 40 80 16 4 31 7 47 11 58
REHERFER 28 56 18 11 23 4 41 15 56
IVEE 250 500 245 22 264 33 509 55 564
BHAEFER 26 52 16 8 16 5 32 13 45
[ ERBEEFER 23 46 13 11 9 14 22 25 47
REFAH EPBETER 23 46 8 7 7 5 15 12 27
INET 72 144 37 26 32 24 69 50 119
&t 364 761 295 65 326 98 621 163 784
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BLRE =g AREE| BEE S = S = 5 = 5 = 5 X =3
EFRAERR EFHEK 30 120 25 10 22 12 12 9 35 13 94 44 138
(B LFE) INET 30 120 25 10 22 12 12 9 35 13 94 44 138
EFRARR FHEFEY 2 2 3 0 3 3
(B L &HAEE) INEE 2 2 3 0 3 3
EEBETZER 6 18 2 2 7 6 9 8 17
MEBEEHIZEK 5 15 1 2 4 7 0 7
TSR EFRRIFENR 4 12 3 3 2 8 0 8
(B L& HAEE) HEYERFER 4 12 3 2 2 1 4 3 9 6 15
REHERFER 4 12 5 1 2 1 3 10 2 12
INET 23 69 12 5 11 2 20 9 43 16 59
EPEREEFER 9 27 2 3 8 3 10 9 20 15 35
EERFEMEH EVERFAFEER 4 12 7 6 6 3 11 2 24 11 35
(BH13%) EVBREREFENR 4 12 5 3 1 1 7 5 13 9 22
IV 17 51 14 12 15 7 28 16 57 35 92
&t 72 242 51 30 48 21 60 34 35 13 194 98 292

SRR T x5 ApER| wEA [ oSt R o JRR. L AR L
R p— BEEBRSEILER 40 55 23 20 18 5 41 25 66
BETHEH INEE 40 55 23 20 18 5 41 25 66
&it 40 55 23 20 18 5 41 25 66
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